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Seat No.: _____                                                      Enrolment No.______ 
   

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Semester –IV Regular/Remedial Examination May - 2011 

 

Subject code: 341101              
Subject Name: Microprocessor and Assembly Language programming 
Date: 08/06/2011                               Time:  02.30 pm – 05.00 pm 

                       Total Marks: 70 

Instructions: 
1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks. 

4. English version Authentic 

Q-1  

 

(a) Chose the correct of the following      07

  

1. The 8085 can address 

a) 256-Bytes b) 16K-Bytes c) 32K –Bytes d) 64K-Bytes 

2. The 1
St
 cycle of every machine cycle of 8085 is a 

a) Fetch cycle b) Execute cycle c) Fetch and execute both d) None  

3. Which type of addressing mode is used in CMP instruction? 

a) Direct  b) Implied  c) Register d) Indirect 

4. Which  register keeps track of program during execution  

b) Data register  b) Program counter  c) Instruction reg. d) None of these 

5. During fetch cycle the microprocessor fetches the opcode and operand  

c) From I/O devices  b) from memory  c) from both  d) None of these 

6. The data width of 8085 is  

d) 4-bits  b) 8-bits  c) 16-bits d) 32-bits 

7. Time required to execute an instruction is called 

e) T-state  b) Machine cycle  c) Instruction cycle  d) None of these 

 

  (b). Answer the following.    07 

             1. Why address bus is unidirectional? 

             2. What is flash memory? 

             3. How many address line does 4 Kbytes memory chip need? 

             4. What is multiplexing? 

             5. What is interrupt? 

             6. Give the full form of PSW. 

             7. Which instruction is used for 16-bit addition operation? 

Q-2 

 

(a) Answer the following 

    1. Draw the internal architecture of 8085    05 

    2. List the feature of Pentium processor.    02 

 

(b) Answer the following  

    1. Write short note on Software and hardware interrupt in 8085 based system     05       

    2. Give function of stack.     02 

                                         

                                                            ----or----- 
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(b) Answer the following 

    1. Explain the flag registers of 8085.    05 

    2. List the interrupt pins of 8085.    02 

 

Q-3 

(a) Answer the following. 

     1. What is timing diagram? Draw timing diagram for MVI B, 30H instruction     05 

    2. Explain push instruction.      02 

(b) Answer the following 

     1. List the functional units of 80386 and give the function of each   05      

     2. What is descriptor table?     02 

                                                           ----or----- 

                         

(a) Answer the following 

     1. What do you mean by addressing mode? Explain diff. addressing mode for     05 

         8085 with examples. 

     2. What is an instruction? List type of instruction based on size.               02  

(b) Answer the following 

     1. Draw block diagram of microprocessor 8086.Explain it’s each functional        05 

         parts in brief. 

     2. What mean by CISC and RISC processor.       02 

 

Q-4 

(a) Write an assembly language program on following 

      1. To transfer block of data from address starting at 3000H to 3100H.                05 

          The length of block is at address 3000h. 

      2. To add two numbers stored at memory location 3000H and 3001H.                02 

          Store the result in register C. 

(b) Write an assembly language program on following 

      1. To arrange 10 nos. in ascending order.                                                              05 

      2. To add two 16-bits numbers 1256H and 2010H                           02  

                                                           ----or----- 

(a) Write an assembly language program on following 

      1. To multiply two numbers 06H and 24H                            05 

      2. To exchange the nibble of data 56H                                                                 02 

(b) Write an assembly language program on following 

      1. To generate time delay of 1 ms. Assume system freq. =2 MHz                        05  

      2. To clear first nibble of accumulator.                                                                  02 

 

Q-5 

(a) Explain following instructions. 

      1. STA 2050H                   2. LXI H, 3000H          3. XTHL                               07 

(b) Define following terms 

      1. Bus                                2. Opcode                     3. Microcomputer                 07 

                                                           ----or----- 

(a) Explain following instructions. 

      1. SHLD 2000H                2. MVI C,34H               3. SIM                                 07 

(b) Define following terms 

      1. Machine cycle.                2. Assembler                 3. Subroutine                     07 

 ------------------------------------------------------------------------------------------------- 
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�ચના ુ : 

     ૧. બધા �
 �ય�ન કરો  

     ૨. જ�ર જણાય �યા ંધારણા કરોુ  

     ૩. જમણી બા� ના �કડા માક�સ દશા�વે છેુ . 

     ૪. અ'(ે)જ  આ+તી મા'ય રહશેુ . . 

�-૧ 

(અ) સાચો િવક3પ પસદં કરો                                                       07 

    (૧) ૮૦૮૫ અ9સ કર: શક . .  

    (અ) ૨૫૬ બાયટ (બ) ૧૬ =કલો બાયટ (ક)૩૨ =કલો બાયટ(ડ) ૬૪ =કલો બાયટ  

    (૨) ૮૦૮૫ ની દરક મશીન સાયકલ ની �થમ સાયકલ  છે. . 

     (અ) ફચ . (બ) એBસીCટ ુ (ક) ફચ અને એBસીCટ . ુ (ડ) એક પણ નહ: 

     (૩) CMP instruction મા Dા �કાર ના એ9સE. ગ મોડ નો ઉપયોગ થાય છે. 

     (અ) ડાયરBટ . (બ) ઇમIલાય'ડ (ક) રJKટર (ડ) ઇનડાયરBટ .  

     (૪) Dો રJKટર �ો(ામ એBસીCશન દરLયાન �ો(ામ Mક કર છેુ . . .  

     (અ) ડટા રJKટર . (બ) �ો(ામ કાNટર (ક) ઇનKOકશનરJKટર (ડ) એક પણ નહ: 

     (૫) ૮૦૮૫ ની ડટા વીPથ છે. . 

     (અ) ૪ બીટસ (બ) ૮  બીટસ (ક) ૧૬ બીટસ (ડ) ૩૨ બીટસ 

     (૬) ઇનKOકશન ને એBસીCટ થવા લાગતા સમય ને કહ છેુ . . 

     (અ) ટ: Kટટ  . (બ) મશીન સાયકલ (ક) ઇનKOકશન સાયકQ ્(ડ) એક પણ નહ: 

(બ)   નીચેના �
ો ના જવાબ આપો.                                               07 

      (૧) શા માટ એ9સ. . -બસ Tિન ડાયેરBશનલ છે ુ . ? 

      (૨) Vલેશ મેમર: એWલે X ું? 

      (૩) ૪ ક:લો બાયટ મેમર: ચીપ માટ કટલી એ9સ લાઇન ની જ�ર પડ . . . .ુ ? 

      (૪) મ3ટ:IલેBસEગ એટલે X ું? 

      (૫) ઇ'MIટ એટલે X ું? 

      (૬) PSW Y Zલ ફોમ� આપોુ . 

      (૭) ૧૬-બીટ ના સરવાળા માટ કઇ ઇનKOકશન ઉપયોગ થાય છે . ? 

�-૨ 

(અ) નીચેના �
ો ના જવાબ આપો. 

       (૧) ૮૦૮૫ Y ુંinternal architecture દોરો.    05 

       (૨) પ̂ટ:યમ �ોસેસર ની ફ:ટચર દશા�વો.    02 

(બ) નીચેના �
ો ના જવાબ આપો. 

        (૧) ૮૦૮૫ આધાર:ત સીKટમ ની હાડ�વેર તથા સોVટવેર  ઇ'MIટ વીષે aંકુ  05 

            નbધ લખો. 

        (૨) Kટક Y ંકાય� dણાવો. ુ .                      02  
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                                     ------અથવા ------ 

(બ) નીચેના �
ો ના જવાબ આપો. 

         (૧) ૮૦૮૫ ના Vલેગ રJKટર  વીશે સમજવો.    05 

         (૨) ૮૦૮૫ ની ઇ'MIટ પીન જણાવો.    02 

�-3 

(અ) નીચેના �
ો ના જવાબ આપો. 

        (૧) ટાઇમEગ ડાયા(ામ એટલે X ું?  MVI B, 30H ઇનKOકશન નો ટાઇમEગ 05 

            ડાયા(ામ દોરો. 

        (૨) fશ ઇનKOકશન સમજવોુ .    02 

(બ) નીચેના �
ો ના જવાબ આપો. 

      (૧) ૮૦૩૮૬ ના દરક . functional units ના નામ આપો  અને    05 

          દરક Y કાય� જણાવો. ુ . 

      (૨) descriptor table X ંછે ુ ?    02 

                                     ------અથવા ------ 

(અ) નીચેના �
ો ના જવાબ આપો. 

       (૧) એ9સEગ મોડ એટલે X ં. ુ ? ૮૦૮૫ ના  એ9સEગ મોડ ઉદાહરણ સાથે .  05 

           સમgવો. 

       (૨) ઇનKOકશન એટલે X ું? સાઇઝ ના આધાર તેના �કાર લખો. .   02 

(બ) નીચેના �
ો ના જવાબ આપો. 

        (૧) માઇiો�ોસેસર ૮૦૮૬ નો jલોક ડાયા(ામ દોરો. તેના દરક .   05 

         functional parts વીશે aંક મા ંસમgવોુ . 

        (૨) CISC અને RISC �ોસેસર એટલે X ું?     02 

�-૪ 

(અ) નીચેના પર એસેLjલી લ̂ગવેજ �ો(ામ લખો. 

      (૧) ૩૦૦૦ થી શ� થતા એ9સ થી jલોક ને ુ . ૩૧૦૦ થી શ� ુ થતા એ9સ પર  . 05      

      Mાસંફર કરો. jલોક ની લબંાઇ ૩૦૦૦ પર છે. 

      (૨) મેમર: લોકશન . ૩૦૦૦ અને ૩૦૦૧ પર ના ડટા નો સરવાળો કરો. .  02 

       પર:ણામ C રJKટર મા ંKટોર કરો. 

(બ)  નીચેના પર એસેLjલી લ̂ગવેજ �ો(ામ લખો. 

       (૧) ૧૦  ડટા ને ચડતા iમ. મા ંગોઠવો.     05 

       (૨) ૨ 16-બીટ નબંર 1256H અને  2010H નો સરવાળો કરો.          0૨ 

                                        ------અથવા ------ 

(અ)  નીચેના પર એસેLjલી લ̂ગવેજ �ો(ામ લખો. 

         (૧) 06H અને 24H નો nણાકાર કરોુ .    05 

         (૨) 56H ની િનબલ ની અદલા –બદલી કરો.            02  
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(બ)   નીચેના પર એસેLjલી લ̂ગવેજ �ો(ામ લખો. 

        (૧) ૧ મી સેકંડ નો ટાઇમ ડ:લે જનરટ કરો. .સીKટમ p:ક.= 2 MHZ  ધારો.   05 

        (૨) એCLTલેટર ની �થમ નીબલ Bલીયર કરોુ ુ .     02 
 

�-૫ 

(અ) નીચેની ઇનKOકશન સમgવો.                                                 07 

       ૧.  STA 2050H           ૨. LXI H, 3000H            ૩. XTHL      

(બ)  rયાsયા આપો.    07 

        ૧. બસ                 ૨. ઓપકોડ               ૩. માઇiોકોLITટર        ુ  

                                     ------અથવા ------ 

(અ) નીચેની ઇનKOકશન સમgવો.                                                 07 

       ૧.  SHLD 2000H            ૨. MVI C,34H               ૩. SIM   

(બ)  rયાsયા આપો.    07 

        ૧. મશીન સાયકલ       ૨. એસેLબલર           ૩. સબ�ટ:ન ુ  

-------------------------------------------------------------------------------- 
     
         


